FTH7F7ATARCELE- AR -HHEER R

SMIETA1BRE

£ V)74 1% 2% 3m 4i% 5% =
BENREZELE 7 17 8 20 16 17 85
REEE_ELE 4 11 13 22 23 20 93
ESFELREEHEER 9 17 17 20 24 23 110
RET A1 ZEHE 14 25 28 23 32 122
S YLHRE 3 10 10 29 25 24 101
CELE E 23 69 73 119 111 116 511
MNFEREER 12 19 21 25 25 24 126
NAEDRER 8 15 7 6 7 43
NIE 12 27 36 32 31 31 169
LHTERE R 8 10 14 14 15 11 72
(%ET?;E) 19 21 0 41 40 39 160
LD RREERATE 23 37 60
HEHEIFERVFUERYRE 9 10 11 10 9 10 59
FASLET 36 64 62 65 64 60 351
REE &t 48 91 98 97 95 91 520
REHHE 12 13 11 36
ETEHHE 7 15 14 36
EEHHE 19 13 19 51
AN ILET 38 41 44 123
FEYHE 7 26 37 47 117
FAILET 7 26 37 47 17
HHE Et 0 0 7 64 78 91 240
[RETIZCIZCRER 2 5 5 12
T &LE 8 5 13
A=YVI—ILFRER 1 6 8 15
EELAEE 3 8 4 15
INRIRIRE FAILE 6 27 22 0 0 0 55
a &t 77 187 200 280 284 298 1,326




